EIR S _E DRSS & DIKE (R 2 9F 4 H 1 BIRME)

ITEERERIER
N SRR CHEET S as IR el _E O ERS
EHik . R
Bt -1 BRTE N (%) o N | (N ] () | eams
= 29
148 | EB. BERUERMEERT SRS 29| 158
B 29 %
FE 20 49| 26.6| B
FERVBEDONH. BREVNEETS (55, BIERA) 2) i
2% _ 20 10.9
1T S TS
B 20
WETE 59
(5. BEA) (2)
(55, BEREERE) | (3)
HEE 11 &
3% . . L 73| 39.7 73 39.7| E
DEE R UMA S RS T8 21T S S WIEREELES 1 =
WBIENEZIESFIS 1
wESIEAS®E 1
B 73
e 11
wRE 5 B8
R R 2% 17 SIS =E 1 K
4% 43 23.4 43| 23.4|
T 25
1
BIfER 1 Ny
B 43
me 7
SitERs 1
EBREE 2
EBE 2
Sip | BERUNE R R T S 16 8.7 |HigE 1
FRE 1 &
- 19| 10.3| E
X 1 &
sisE 1
% 16
sE 3
6if | BEBOWIE 3 1.6
g 3
=T 184 100.0




EIR S _E DRSS & DIKE (R 2 9F 4 H 1 BIRME)

EERaRIR()
=i SRR R(CRET D as MR BBl ODER DS
B CIRDIES (N) | (%) i (N) | (N) | (%) | BB
ES:0 1 3
14 [E= EMODREEFS 1 16.7 1/16.7 8
st 1 &
EE 1
EEOBERUENSEOME. 2% &=
2R . L 1 16.7
NE & T BEREEITDELD 2133.3| E
st 1 &
EE 1
BREOMBRUBEOMS. RR% SIEE 2 2l
3R R __ 3] 50.0 B
WEB E I RERZITOERD 2133.3 e
3 i
BE 1
REOEHERUS CEEOME. Rix &
4 4R R __ 1 16.7 11167 | E
NE & T BEREEITDELD =
B 1
=1 6| 100.0




EIR S _E DRSS & DIKE (R 2 9F 4 H 1 BIRME)

EERTENER(2)
i %%&BUE#H&J&?%E(:‘%E’E?ZD ai PUER b DB R
B CIRDIES (N) | (%) i (N) | (N) | (%) | EBBE
IR IREHSIRET 1
DRSS, BRARAREIRET. BT
ST, WA, v — ST, 12
14K 1 6.3
PEOAT. (FEEAT. BRI, SEL
RS BRSO
1 i
BR PR ET IR 1 7/43.8 &
B R TR 1T S DR ITRIRER, T wH—IEERT 1 L
BERIRETIRET, BRPR T3I%Em, SHAET. EPEA T 1
2| WYY—SISER. ByEeAT. fr 6| 37.5 mEL 2
Fokt. EHIE. REL. SEEET SERE T 1
DS
6
EED B RET 1
EEBRFRIR TN 1
R AT RUOESREEETS EERETERT 1 =
3k 4 25.0 4 25| 1
5 EErEEAT 1 =
4
DBIREHRIETR 1
RERAR AT R 1 £
4R | IR EERRA T RO CRE 4| 25.0 METEEPEAT 1 4/ 25 2
TS B¥EATE 1 5
4
EBE 1
I5]
SHy | RS CHEERESEIT SRS 1 6.3 1 6.25| E
®
1
=1 16| 100.0




EIR S _E DRSS & DIKE (R 2 9F 4 H 1 BIRME)

EERIARIZR(3)
N SRR CEET S a3 IR B _E O ER S
Hik . R
BAE L1 DHFS (N) | (%) 2 (N) | (N) | (%) | E3ps
HEEEND 11
(55, BAEREEE) | (1) i:3
B E OIS &
1k 11 17.2 11(17.2 &
b
@
B 11
EEmm 28 =
28/43.8 E;
Sl | BEER. fEEELD. (RREF. EhED 30|  46.9 &
Y A B 2
| 30
LB 5
RN 12 x
) ) 19 29.7| fF
TEBEN. TEEBE. TR,
3R 17| 26.6 LN
AR FERTOORTE
B 17
EEE 3
T T (AR R 2 -
4p | EBEME. BETTREM O 5 7.8 5| 78| B
o
5
WEENE 1 %
=
5 4R WEERR 1 1.6 1] 1.6 -
E
5 1 &
a3 64| 100.0




EIR S _E DRSS & DIKE (R 2 9F 4 H 1 BIRME)

IRRERRERIR
" SHRABEMER TS 3 as PR B _E ODERBE
Hik . R
B T2 B N[ (%) B N | (R ] (%) | e
U 2
1R | SREEREPR IR B ORES 2| 105
T2 53
U 6 e
- . 9 47.4| _
BUBEORAER SERELBET S EENT 1 8
21| REERE. RETERUEENERD 70 368 #
B
7
IRRETRERD 3
U 6
BE DRI (RN E & T BIEE EENES 1 £
3% ) ] 10| 52.6 10| 52.6| 1
180, A EERUEEN EE OB @
st 10
a3 19| 100.0




